Oraclel 0D 0OODOOOOOOOOPDFOOOOOOOO
OJoooooooon
https://www.100test.com/kao_ti2020/143/2021 2022 Oracle E6 95

_ B0 E6 c102 _143402.htmOraclel DO D OO0 OO OO O OO
OO CONTEXTO O O OO CATSEARCHO O 0O O [
OCTXCATUOOOOCONTAINSO OO ODOOO0OO0OOO
OO0000000 SQL>CREATE TABLET (ID NUMBER,
DOCS VARCHAR2(1000)).00 OO O O O SQL>INSERTINTO T
VALUES (1, IT ISAEXAMPLE FOR QUERY TEMPLETE.).[J [
[0 100 SQL>INSERT INTO T VALUES (2, USING THE
TEMPLETE CONTAIN OPERATION CAN BE PERFORM ON
CTXCATINDEX).O OO 100 SQL>INSERTINTO T
VALUES (3, AND THE CATSEARCH OPERATION CAN BE
PERFORM ON CONTENT INDEX)).O0 O O 10 0O SQL>
COMMIT.O OO OO SQL>CREATE INDEXIND_T _DOCS
ON T(DOCS) INDEXTYPE ISCTXSYS.CONTEXT. O 0O O [
[1 SQL>SELECT ID FROM T WHERE CONTAINS(DOCS,
TEMPLETE, 1) > 0.ID ---------- 21SQL>SELECTIDFROMT
WHERE CONTAINS(DOCS, 23 TEMPLETE456,1) >0.ID
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